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f(x) ≤ x ⇐⇒ (x3 + 2x2 + 5x+ t)e−x ≤ x

⇐⇒ x3 + 2x+ 5x+ t ≤ xex

⇐⇒ t ≤ xex − x3 − 2x2 − 5x (1)

ùpéN´�y§t ∈ [0, 1]§�x = 0£d�kt = 0¤Ø�ª(1) ´¤á�"�­����¡§ù
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∃t ∈ [0, 1], ∀x ∈ R, t ≤ xex − x3 − 2x2 − 5x ⇐⇒ 0 ≤ xex − x3 − 2x2 − 5x

2(ÜK�^�x ∈ [−4,m]§

ex ∈ [−4, 0)£=x < 0)K

0 ≤ xex − x3 − 2x2 − 5x

⇐⇒ 0 ≥ ex − x2 − 2x− 5 (2)

éØ�ª(2) §x ∈ [−4, 0)´Ä¤á¯K®²é~5
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ØL§�úwe�§á��x ∈ [−4, 0), F ′(x) = ex − 2x− 2, (F ′′(x) = ex − 2 < 0)=

d�¼êF ′(x)3x ∈ [−4, 0)þüN4~§
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Ø�-F ′(x)":�x0§£ó	�¿=´`µx ∈ [−4, x0), F ′(x) > 0 · · ·
=-F ′(x0) = ex0 − 2x0 − 2 = 0⇒ ex0 = 2x0 + 2
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d��±3v�§½öM�px��x ∈ [−4, 0), F (x)úã§2(Ü�y²�Ø�ª(2)§ég,

�O�F (x0) = ex0 − x20 − 2x0 − 5 = 2x0 + 2− x20 − 2x0 − 5 = −x20 − 3 < 0§½Ø�ª(2)¤á"
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0 ≤ xex − x3 − 2x2 − 5x

⇐⇒ 0 ≤ ex − x2 − 2x− 5

=?Ø¼êF (x) = ex − x2 − 2x− 5, x ∈ (0,+∞)þ�����"���"?Ø�{�x ∈ [4, 0)�

Ó�É§ØL§ùp¦�êm����§5¿�F (1) = e− 1− 2− 5 < 0§ùÒ¿�Xm < 1.
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